6.6 (page 399)
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=x*+3%7 -3y +3x-9y* +27y° = x3 4+ 9x2y + 27Xy + 27y

19.
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4 4 4 0 4 3 1 4 2 2 4 1 3 4 0 4
21.  (2x-y) :[OJ(ZX) (=y) + (J@X) (=y) + [2J(2X) (=y) + (J(ZX) =y) +(4](2X) =y)
=16x* —4-8X’y +6-4x7y* —4.2xy’ +y*
=16x* —32x’y +24x°y* —8xy’ +y*
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The coefficient of X?y° is [6 =28.

26. (x+2) = ((5)])( +(Jx 2+[§]x .22+[§]x2-23+[ijx-24+(§j25

5
The coefficient of X° is LZ 2% =40.
A set with 50 elements ﬁas 2°%=1,125,899,907,000,000 different subsets.

28. 8 4 5 6 7
34.  To show that [5] = ( + (4} + {4] + (4) , we repeatedly use the identity

| (EJ=(“;IJ+(E:1J

So,

5 4 4 5
Now since(sj = (4} =1, we substitute (4} for [ ) in the line above and pr



